
790 ADVENTURE,black-direct delivery 2023 <2023><GB><F9622W7>
TANK, SEAT

62598

Pos Part Number Description Additional Text Quantity

1 C64607047000C1 seat passenger 1.00

2 C61007040000C1 Seat rider 1.00

4 C63507613000CB Fuel tank 1.00

5 C63507058000 Fuel tank fairing 1.00

6 C0912050083 Cap head screw, ISO 14579, M5x 3.00

7 C0009120503000 AH SCREW DIN0912-M 5X30 3.00

8 A61007008050 Fuel tank filler neck 1.00

9 63507080200 Fuel lever sensor 1.00

10 C0009120501600 AH SCREW DIN0912-M 5X16 4.00

11 C58507003200 FUEL COCK CPL. 2.00

12 C0000250601200 HH collar screw M6x12 TX30 4.00

13 58031005000 CLAMP YDNAC 10128 12MM FOR 12 LITER TANK 2.00



14 C63507016000 Interconnection hose 1.00

15 C63515027100 Tank overflow hose 718mm 1.00

16 C61007065000 collar bushing, front tank hol 8.00

18 C61007060000 collar bushing, bearing, outsi 4.00

19 N0009120804000 SHCS DIN 912 M8x40 4.00

20 C21007008251 Seal, tank insert 1.00

21 C90707080090 Gasket fuel level sensor 1.00

23 00001000015 Motorex Fuel Stabilizer 125ml 1.00

24 C64607087010 Cover fuel pump 1.00

25 N0900000601200 Seat screw M6x11.5 ISA30 2.00

26 C90707040041 Isolation pad 6.00

27 C0000190501200 COUNTERSUNK SCREW ISA25 M5X12 1.00

28 58605083014 Oval head screw M5x14 TX25 only for "R" 2.00

29 59001092050 SPECIAL SCREW M6X12,5 WS=8 2.00

30 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00


